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§E552, 53, AT AR T MHET2 T H  |L= 122m  USE 10,945,000] 3. 9.28| 4. 6. 9
T B2 SRR AT Bk T FH P HT L= 80m U 9,636,000| 3.11.16| 4. 5.14
[E 45 5 RN HT 3% T3 TEFHET (L= 101m  UFE 12,243,000| 3.12.28| 4. 6.25
g?;l%l’8_1091%’%&”%% e L= 164m UF#E 18, 755,000 4. 2. 1| 4.10. 8
FLJI1298, 307 SRR A FTR L9 | WJ)IN2TH  |L= 80m Ui 9,658,000 4. 2.15| 4.10. 2
V5 321 SRR O B T8 YT L= 4lm UF# 3,443,000 4. 2.19| 4. 8. 7
F68 SR B T A5 JRT L= 48m U= 5,533,000 4. 6.25| 4.11.29
B8NS B T SEZEHT L= 117m U 13,750,000 4. 7. 2| 4.10.18
F11183 5 H ik B T2 SIHT L= 25m U5-§ 1,133,000 4. 5.19| 4. 8.26
TRFA20 SR Hr R T FFIHITH|L= 44m  UFE 4,400, 000| 4. 6.11| 4.10.18
BR R 228 SR R AT ek T3 JLE AT (L= 7Tm U 8,492,000| 4. 7. 2| 4.12. 8
9252 5 Al R T ENSLIN L= 135m U= 6,204,000 4. 7. 8| 4.10.18
[ FH 140 5T o B T AT L= 88m U 3,223,000 4. 7.23| 4.11.18
T B2 SRR AT Bk T FH P HT L= 100m U5 6,663,800| 4. 9. 6| 5. 3. 3
& 339 B i 2 T HEF T L= 97m U= 10, 560,000 4. 9.17| 5. 3. 9
4t I 38 S MR T R T AL LT L= 109m US4 9,920,900| 4. 9.17| fE L
?28_2085’ 2086 R Ut Jey FHHET L= 14Tm U 13,090, 000| 4. 9.27| 5. 3.15
%%2%’% (2LBC) Rt HH 7 BT L= 120m U5 8,687,800| 5. 2.21| it L
HPES-1061 SR A HT AR T8 SR HT L= 135m U54#% 17,748,500| 5. 2.25| fg L
[ 45 5 RN a3k T TEFHET (L= 120m  UFE 13,035,000| 5. 2.21| fET.H
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(2) Bd\ I K OV IR B B ff 2

HEL M T HENE THEH (M) B TEAR|5ETHEAR
ﬁg%gg SRR D IE T BT HT L= 140m JH#IE| 3,751,000 3. 7. 3| 4. 5. 8
é%%@iﬂﬁé%%%’ﬁ%mﬁ EREL L= 160m JHHIJIE | 4,334,000 3. 7.17| 4. 7. 1
iﬁ{ggﬁg}éiﬂ,é%g%ﬁﬁ%% {AIFNEET |L= 610m  JHMAIE | 2,046,000 3.12. 3| 4.11.10
'{];253101 FRIRD VHBBHE PP L= 300m FEAMARRE 2,519,000 3.12. 3| 4.10. 7
Eﬂg%ﬁ&ﬂﬁgggo%ﬁﬁm\iﬁ fR T L= 200m FHHI&E [ 5,423,000] 4. 2. 4| 4.11.30
QEE‘%H? H3BH DG IFNHET |L= 595m  FRAMEGEXE 4,037,000| 4. 2. 8| 4.10. 5
gf?;%iﬁm é?%%@mz%m\ RIZHT L= 130m JHHu#IE | 3,234,000 4. 5. 3| 5. 3.15
%%"%O BRI D VBRI | g )y L= 153m JHHuMIE | 3,894,000| 4. 4.29| T
%%%2 D\ B HH 7 T L= 160m “FmE#flE| 1,991,000 4. 4.29| 4. 8.23
ﬂgg%%g R D T ERINET L= 110m  FHBEIE | 3,542,000 4. 4.29| 4.12.15
g?ﬁﬂgggig FRRRD B {AFNEET  |L= 140m JHHE [ 3,333,000( 4. 5. 3| 5. 2. 2
TN 43, 44, 46, 140585k &
%%%Iﬁﬂ% SORGERATE  [WRmET | T 1,045,000| 4. 5. 3| 4. 8.19
gg%ﬁ AR D E T ETPNET (L= 75m FHHBMIE [ 3,531,000 4. 5. 13| 4.12.16
%z&%g%%l%’ﬁﬁm\ﬁ% BEHHT L= 280m JHHIE| 7,755,000 4. 5.17| fE L
g%gﬁo FR D R T BHLHT L= 140m fHHI&E [ 4, 543,000| 4. 5.13| 5. 3.25
EE;%)EE FiR D\ IEE T /INFRHT L= 100m FfHHI&E [ 1,639,000] 4. 5.13| 5. 2. 6
ﬁégg D BRI R B L= 97m fHHIE | 2,387,000] 4. 5.20| 5. 2.28
g%@gl FR D IBEE T EREFET L= 100m CEEHEIE | 1,617,000 4. 5.24| 4. 9. 5
Eﬁg@g?ﬂé%%S%ﬁﬁ%mﬁ NG L= 264m “FEME [  1,958,000[ 4. 5.20| 4. 9. 5
%Eg%%o IR D VIR AR |L= 130m  CFmilEE | 1,683,000 4. 5.21( 4. 8.17
@%g%%? R\ B 2T H |L= 8Tm JHMiE [ 1,958,000( 4. 5.31| fa L
2%1 TR CEECTER | g gy L= 160m SE@Ei#le:| 2,013,000] 4. 5.31| 4. 8.24
gig@ D R T EE%TH, L= som JAHMIEE:| 1,672, 000] 4. 5.27| 5. 2.20
H#8-1166, 1167, 1191, 1192,
gg%%%%%m\ﬁﬁm?ﬁ{w% B iy T L= 235m C“FEMIE |  2,167,000[ 4. 5.27| 4.10. 3
%ggﬁé%%ges%f@ﬁ%wé% T L= 148m ‘Fmll&E | 2,354,000 4. 5.27[ 4.10.11
%g%}iﬂg?ﬁiﬁié%%ﬂ/ﬁ BRYLET T 1,045,000[ 4. 6. 4| 4. 8.12
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HESL T HENE AR (M) [ THEAR|ETHEAR
%Rfmlgfﬂﬁﬁ&;&fg%Lﬁk 4 LAFH JLiE AT | AR A 792,000| 4. 6. 7| 4. 8.12
;23;3 FRRRD\ R TEFET (L= 7om  FIHEMIE | 2,563,000 4. 6. 3| 4.12.21
;;53120 TR\ ERREE SIHETAN L= 120m  FEMEXER| 2,420,000 4. 6.10( 4.12. 6
E@%}? FHRAD B | oy L= 120m JI#HI&E | 3,630,000 4. 7. 5| Lt
iﬂ?; ERROVER N\ armir {L= 104 W= 5.0m| 11,902, 000] 3. 9.28| 4. 5.24
;JS%W Rk D\ E R T T T L= 12Im W= 4.0m| 15,367,000[ 3.10.12| 4. 5. 9
{%ﬁm Rk D\ E R T FE2TH |L= 10lm W= 4.0m| 10,535,800| 3.11. 2| 4. 5.26
FF246 5 HA &\ B KA L | ZEET L= 116m W= 4.0m| 13,772,000 3.11.23| 4. 5.10
gﬁ'ﬁm R A L= 27Im W= 4.0m| 26,928,000| 3.12.14| 4. 9. 5
?’%9 RO CIERHEN L gy L= 264m W= b5.5m| 27,676,000| 3.12.25| 4. 8. 1
;?gG L9 7R o\ B B FEHET L= 273m W= 4.0m| 29,645,000 3.12.28( 4. 9.21
;%% ISTRBRID VHEEHE |y oy L= 22Im W= 4.0m| 25,828,000| 3.12.28| 4. 7. 7
?E%ﬁ%gg MUZIRO VI | Larogwr 1= 108m W= 4.0m| 10,219,000] 4. 1. 8| 4. 7.26
Fi%w% FERDVEEE | gowpnr |- 6om W= 4.0m| 4,972,000 3.12.25| 4. 7.12
ﬁigf;%,ﬂ%ﬁ&&uﬁ i L= 93m W= 4.0m| 10,087,000| 4. 1. 8| 4. 7. 6
1}%112 R D BRI L | gy L= 9Im W= 4.0m| 9,273,000| 3.12.24| 4. 6.16
$g82 AR D B L %WW’ B = go0m V= 4;3;} 29,018,000| 4. 2.22| 4. 8. 4
iﬂ?; LEBRDVIER oy = 312n W= 5.0m| 35,530,000 4. 7.16| 5. 2.17
iggé}%ﬁ&m\ﬁ% BWL \wrorH = 77m W= 4.0m| 9,614,000 4 8 9| 5 1.15
;5382 RO CERER L \pawr |- om LI 11,000,000 4. 9,17 Ha T
A BT A5 RO o \ VI R i TS | BT L= 17Tm W= 4.0m| 22,583,000 4.10. 8| fi L
?E%ﬁ%? VUZIRO VI | Largwr 1= 102m W= 4.0m| 10,095,800 4.10. 8| T
;%g A2THIDVEIE | 2oy |12 18om W= 4.0m| 22,561,000 4.10. 8| s
Ekmf%%%}%% FRDIE |7 ey L= 191m W= 4.0m| 17,725,400 4.12.17| fi L
{%ﬁm Rk D\ E R R T FE2TH |L= 10lm W= 4.0m| 11,902,000| 4.11.29( 5. 3.25
LEP%BWWMWLE%%W
FEBIERB R O IRaOEH  |BRTLET L= 28m W= 3.0m 825,000 4.11.18| 5. 3. 3
[ T
$EE'382 RS B L ?ﬂm’ﬁﬁé L= 169m W= 5.0m| 18,840,800 4.12.27| fi L
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HESL T HENE AR (M) [ THEAR|ETHEAR
iﬁﬂ?’% R B L 1oy L= 131m W= 4.0m| 18,216,000| 5. 2.25| fi L
ﬁ%@g%ﬁg’ VOIS \rmmmr |i= 45m W= 4.0m| 6,600,000 5 2.21| fETep
%%%716;7,113%%%%@% wAnpEEr L= 1ssm ' %% 25,160,300( 5. 3. 7| ML

(3) FREIME BN

HEL T HENE R (M) [ TEAR|ETHEAR
7k§§§$ A AR A 2 HN— %Eéi%ﬁﬁﬂ%%ﬁﬂ 197.450| 4. a.11| 4. 4.26
ﬁg%m%”‘”ﬁ%ﬁ%ﬁﬁ@”% fRSHTA,  |L= 480m MR [ 2,376,000 4. 5.27| 4.12. 7
AHITRESMER N EZLFE (W HAET L= 64m S 407,000 4. 5.17| fitg T.rf
KURHT R E S E A T KIRET L= 101m &% TH| 2,145,000 3.12.28| 4. 7. 7
ﬂf@gﬁwi@a BIESME Bt A IFDHET L= 80m &HZE TS| 1,683,000 4. 2. 8| 4. 6.14
FRIFHTFRESME B EHAE TS (BRI L= 70m #&F#ETHE|  2,112,000[ 4. 6. 4| 4. 7.13
BT ERE S0 B i T Rl L= 120m #2ETF | 2,156,000[ 4. 7.12| 4. 9.28
ARIEFHTFRESMEREE T3 KB TET  |L= 93m &ET#|  1,716,000] 4. 9.13| 5. 1.20
TEIIMRE/ERGHETSE | FEMST (L= 120m &ETHE| 1,778,700 4.10. 1| 4.12. 1
§§W(1ID% ESMBR R A BT L= 65m #&f%ETHF| 1,161,600( 4.10. 8| 4.12.14
A TR E SME B A AL T3 4 HHy L= 65m &¥ETH| 2,530,000 4.11.18| 5. 2. 8
S BT 3R E SME R AL T3 AR HT L= 323m &f¥ETH| 5,967,500 4.12.17| 5. 3.15
AUSETANGRESME RS T3 |[ARERTSE |L= 76m  EEETE#| 1,545,500 4.12.27| 5. 3.29
%gm(ZID%UE%E%%?«% FE ST L= 83m #2ETHF| 2,581,700[ 5. 2.18] 5. 3. 9
%gwmm%i%ﬁ%ﬁ% FH A4 BT L= 39m Hfi%E L9 833,800 4. 9.17| Jiti T.rf
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B FEZ NG S

1 AJIEFEEICONT

FEL T FENE TR BHE (M) | LAEA R |52 THA A
TAMRERAEREBLE |THN—H  |BoEREES 1,842,396| 4. 4. 1| 5. 3.31
Eﬂ%mllﬂﬂﬁ)ll%l&%;‘%i’%i VTIPS A=39, 5100t [ EL 7,183,000 4. 4.29| 4.11.30
Eﬂ%ﬂ)lléﬁﬂ)ll%lﬁ%;‘% 5% | agimrst [ass7, s00ni BREr 6,303,000 4. 4.29| 4.11.30
Eﬂ%ﬂ)llﬁ)ll)ll%%a%ﬁi TEA TSN [A=17, 2000 BREE 3,190,000 4. 4.29| 4.11.29
Eiﬁg”'ﬁ””””ﬂﬁﬁ@%i’% T A=28, 6000t [ EL 3,113,000 4. 4.29| 4.11.15
?EHM@ WRPIIERBRBE | cmmrat [jaze s 286,000 4. 4.20| 4. 5.20
gig”'ﬁﬂﬂ%ﬂﬁ@mﬁ% FH B 1] R R AR - B A 319,000[ 5. 1.24| 5. 3. 1
Y P RRE) | s e TR /NI HT L=22.5m FERERE 1,298,000 4.12.21| 5. 2.15
YT 1B s TR /NI HT L=28.5m ER{ERE 1,287,000 4.12.21| 5. 2.15
YEFT RPN ERE T 5 FROILET L= 4.5m AlHEERE 1,287,000[ 5. 1.21| 5. 2. 6
2 HIKBRER/EXRICTONT

HIES L P HENK AR (M) | TEAR |52 THA A
Egg’%iﬁmmﬁm%ﬁﬁ% JeAIET | 1,353,000 4. 2. 4| 4. 5.24
@gg%}ﬁ%%@ﬁ%&ﬁ&%%ﬁ% PN JEUIT R R T G P2 S 473,000 4. 4. 1| 4. 5.27
PIHMTHEK S FE MR R &RE | PAHET ES/iTi'a 1,815,000[ 4. 5.21| 4. 9.17
g:;ff;g%é% SO RN %{g%ﬁz R A 1,815,000 4. 6.10| 4. 8.18
R ETHEK R E ERRFIERE [(WAHET  [BEERGT 2,838,000 4. 6.21| 4.11.27
;gg%‘fgm%m@mim E%E EY/ITEEs 9,493,000| 4. 7. 5| 5. 1.31
%gg%igm%ﬁﬁ%mﬂg T Lk 1,837,000| 4. 8.26| 4.10.24
gfg%ilﬂﬁ AR R TS JoAJIET R 9,680,000| 4. 9.23| 4.12.21
WEHTHE KBS B faa st Z7E |PRJRET e/ IE e 9,196,000( 4.10.14| fE T
S T Bl A S R B 2R R Y T JH i) 495,000 4.10.13[ 4.12. 1
{A0A0 AT PR KRS O B ZERE (TR T (A 1,067,000 4.12.23| 5. 2.20
AR HEK S SRR R RRE | AR SRET e/ IE e 8,580,000 5. 1.13| f T
REFETHE K BRI R 25 [REFHT /LS 8,690,000 5. 2.25| 5. 3.28
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FEL T FENE LR (M) | AR |ETHEAR
SRETHEK S E AR SR HIEE A A 1,980,000 5. 3.10| fiti T.rf
EREETHE KRB R AR T BT 198,000| 5. 2.21| 5. 3.15
ngﬁ%ﬁg”‘"%ﬁ@% PRRHT (5 3 I PR 88,000 5. 3.21| 5. 3.31
igg% BAM AR E | = p %Eéi%wﬂﬂ%tﬁ%u 78,890 4. 5.12| 4. 6. 6
iﬁg% REP RS REBTRE | gpeey %Eéi%wﬂﬂ%tﬁ%u 120.890| 4. 8.10| 4. 9. 5
gﬁ%&m RANMTHEABERE st |L=42. 1m g//w?\i 98, 164,000| 3. 8. 7| 4. 5.24

FEPM¢>
HIRETHEAK B ik T HIRET 1=271. 3m 800 42,020,000 3.12.14| 4. 9. 5

VU ¢ 600
URLIE? N T Ry L=172. 0m f@m%% 19,008,000 4. 2.25| 4. 8. 8
PR s I o ot o fif T P JLHT L=100. 0m %ﬂgaﬁﬁ 142, 362,000| 4. 5.31| 5. 2.24
%ﬁm}w%ﬁﬁ%g&gﬁi A I BT L= 6.7m BHHIT 1,155,000| 4. 5.18| 4. 6.24
ERCLIE: ¥ =T L=79.0m f@m%% 6,468,000 4. 7.12| 4.11.21
?yuﬂv, ARIEFIT B A L i%f& L= 6.2m BAYIT 2,915,000] 4. 9.17| 4.12. 5
AE T K B ek L et L=112.5m f@m%% 30, 734, 000 4.10.15| 5. 3.15
HEFET PR B S LR HUEFHT L=105. 7 Et%ﬁ 836, 000 4. 9.23| 4.10.20
%}”mjbk%ﬁﬂ%%ﬁgﬁgﬁl BT |L=37.2m BAHIT. 1,276,000 4.10. 6| 5. 2. 8
gﬁqm}t*%ﬁﬂ%gﬁgﬁi 1P T L=14.0m f@tﬂk%iﬁ 858, 000| 4.10.25| 5. 1.20
%QEHT, TEA T HRAE AT 7 ﬁgﬁm L= 7.0m BAHIT 1,287,000| 4.12. 9| 5. 3.15
?g}”mw*%ﬁ")‘kﬁkﬁw SEAIET  |L=190. Im %’E%ﬁ% 23, 606, 000 5. 1.14| #E T
S T HEK TR YR T L=10.0m f;y%ﬁ 1,100,000 4.12.16| 5. 3.28
%)ﬁimfg%g%mﬂ%ﬁbﬁgﬁi A ET L=141.0m f;?é%ﬁ 14,945,700| 5. 1.31| i LH
3 HKBR#FEEICONT

FHA L P FEAR LR (M) |ETEAR|ETHEAR
RGP AR ooy |Woesersonseis | 1,056,000 4 4. 1] 5. 8.1
E%%;@%éﬁﬁéi&gg i;iﬁ%sTH {722 P TS 137,060 4. 4. 1| 5. 3.31
%g:;kﬁk&(wm%ﬁh% N1 R 864,270 4. 4. 1| 5. 3.31
AR R FRRMEREEGZE TN —H | BREREES 8,477,321| 4. 4. 1| 5. 3.31
?27}(#7}( EROSEIRRAEIE |y —py %Ziﬁgglagﬁ 736,400| 4. 4. 1| 5. 3.31
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HEL HEEETT HENE LA (M) | THEAR | THEAA
PEAKBRAE MERPE PRERS ARt [N —H s MERr i BREES 543,294 4. 4. 1| 5. 3.31
g%fjbkﬁ@%‘u%%w'%%% P g%g&;ﬁﬁ%ig 127,930| 4. 4. 1| 5. 3.31
ggg%-%ﬁﬁ%m@%E% Gr L A=T, 3000t PREL 1,100,000 4. 4.29| 4.11.15
TEPHET TR SR B A RE ST A=T, 7000 PREL 1,177,000 4. 4.29| 4.11.30
5&“@@}%@5@%}@%%%%%@ E@EEZT A=6, 0001} PREL 1,177,000 4. 4.29| 4.11.28
?ﬁﬁﬂgﬁ%m;%ﬁ%ﬁ% A T A=4, 4000t BREL 660, 000| 4. 4.29| 4.11. 9
HEK B BIR R 5 SEJRETAL |A=4, 6100d BREL 715,000 4. 4.29| 4.11.24
ggg-{;gm%%m&%ﬁ% & IRET A=17,800mf R EL 2,827,000| 4. 5.13| 4.11.30
?k(z&%%ﬁbk%&%ﬁ%%% JCERET  [a=11, 8300t R 1,430,000 4. 5.13| 4.11.29
i%?%%ﬁkm%&éﬁ%%%% FREFHT  |A=16,800m [EE 2,387,000| 4. 5.13| 4.11.30
§§M%27U_V¥%ﬁ¥%% TN SR 1,368,169 4. 5.14| 4.11.30
INRETHE KBS BRECERS Z55€ |/NIRHT A=2, 600nf [REL 407,000 4. 4.28| 4.11. 9
%g%gaﬁ@%ﬁ%m'ﬁ% JEA)IRT |A=4, 800nf BREL 660,000 4. 6.18| 4.11.14
g%;gigmﬁgxyu—y TREFET RS 352,000 4. 6.17| 5. 3. 7
FFREF PR S ER AGE |[TTRE BB RRERS 363,000 4. 6.24| 4. 7.29
TR P AN RRER e TR BB SR ERS 363,000 4. 8.27| 4.10. 3
TR P T B 2 R R VN EES B e 495,000| 5. 2.15| 5. 3.25
gﬁ&%ﬁﬁ%%g%g@%a%@ TREFHT  [FFEMERE 3,630,000 4. 6. 3| 4.11.29
ﬁ?jkm%%gﬁ}f%ﬁg% TOREPET |2 UM E S 1,419,000 4. 6.14| 4.12. 9
ﬁ%{é?%%ﬁbk%%@ﬂq%{ﬂ FREFHT  |L=40. 0m L 1,177,000 5. 1.17| 5. 3. 8
?gm%ﬁﬁﬁ%m7lyxw@ FHHAT  |L=210.0m gzéyz 1,287,000 4.12.27| 5. 3.24
?gmﬁ1ﬁﬁﬁém7lyxw§ FHHAT  |L=145.0m gzéyx 1,100,000| 5. 2.21| 5. 3.25
HIRETHK S ERE T F i RET W I & T 990, 000| 5. 2.22| 5. 3.16
4 GANHRFEIZONT

FEA T HENE LR EHE (M) | & TFEAR |5 THEAR
EENANISERREE mmgnr |5z 5p w5 330,000 5. 3.16| 5. 3.29

e
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5 #HTKEEHFESEIZONT

HIES L P HENK R AHA (M) | TEA R |52 THA A
%Em%ﬂﬁ?m%%ﬁﬁﬂé AT A=10ha  JLAEXR 10, 120, 000| 4. 2. 4] 4.10.11
ggig%g;g%ﬁT%% BT |L=175. 0m MR 5,302,000 4. 3. 4| 4. 9. 9
gﬁm%ﬁ?m%ﬁﬁﬁﬂé P JLHT A=50ha  JLAEXR 11,880,000| 4. 4.29| 5. 3.15
iﬁ%giéﬁmﬁ?m%ﬁg BRSNS [L=1,130. 0m E i E 17,600, 000| 4. 6.24| JE L
%gg%&%ﬁﬁ%%%%@ SRy %g%ﬁﬁ%%% 44,3%| 4. 5.16| 4. 6 8
%gg%gng%ﬁT%% EHITS,  |L=440. 0m FEfaRR! 7,293,000| 4. 7.12| 5. 1. 7
;ﬁﬁ%ﬁ?m%ﬁgﬁﬁé R HE A 3,355,000| 4.12. 9| 5. 2.26
%gg%&%ﬁﬁ%%%%@ = T %g%ﬁﬁ%%% 78,980 4. 6.21| 4. 7.19
;ﬁﬁ%ﬁ?ﬁ%mﬂwié R FH i) 495,000 4.12.28| 5. 3.15
%i@gﬁgﬁgﬂﬁT*% giEW’L%Mmm%Tio 45,155,000 3.10. 5| 4. 7.21
;ﬁg SUHTH T ACHE T gﬁg L=38.7m \%E}%’;JSIOO 7,139,000 3.11.30| 4. 6.29
gﬁg%‘[ﬁ?mﬁ%iﬁﬂéﬁﬁgﬁ R L=47.9m BAHIT 15, 455,000| 4. 6.14| 4.11.17
%gﬁﬁ?m%%T%%&% Y HT L=2hn%?£o 594,000 4. 6. 4| 4. 7.22
$§§§§ﬁWﬂﬂ@MMW%EWEN*quﬂm%ml 29,777,000 4. 7.12| 4.12.18
gg%gﬂﬁ?m%%T%% JLEF M [L=36. 2m ZEKHET 858,000 4. 6.22| 4. 8.19
;%gﬂﬁ?*%%T%%& Ty T Lq%gmﬁT%O 37,840, 000| 4. 9.17| Ha T
g%g%ig%%%T%%& T L=56.8m BAHIT 35,002, 000[ 4. 7.26[ 5. 2.13
g?g%ﬁTm%ﬁT%%& AT Lﬂ%&m%gg 69, 608, 000 4. 8.13| 5. 3.15

AT
gg%&%?%ﬁTm%%T%§?MTH Fﬂ&hng%?o 26,719,000| 4. 8.16| fiT.th
%Q;g;%ﬁ?ﬁ%ﬁ?%iﬁMMT bwﬁm%;%ﬁ 1,543, 300| 4. 9. 2| 4.11. 15
gg%gﬁi;g%ﬁT%% JC T HHET L%&Mng*%% 31,097,000| 4. 9.17| 5. 2.27
g%gﬂﬁTm%ﬁT%%& KHENT  |L=89. 1m BHHIT 16,225,000| 4. 9.17| K T.rf
gg%g@i;g%ﬁT%% JLTE AT |L=25.8m BAHIT 1,892,000| 4. 9.27| 4.11.22
g?g@i;g%ﬁT%%& 6 JEBT Lﬂ&&n%mﬁ% 2,354,000 5. 2.21| H T
PITRLT BT KSR PHRE | s T |L=88. om BT 11,770,000| 5. 2.18| K T.rf

sl T
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6 #mTKEMRFEEICONT

A L P HENK R AHA (M) | TEA R |52 THA A
%g;*ﬁg&ﬁmm%%ﬁ% mN—HM  |TEmES 3,171,960 4. 4. 1| 5. 3.31
TAMRERAEREE L [TR—1  |BAERES 15,853,590 4. 4. 1| 5. 3.31
??Mbkm%&ﬁ%ﬁ%i’%é i — 1] %zg%ggﬁg% 776,963 4. 4. 1| 5. 3.31
PEABREHERFE B LR TN — M afERre B 438,072 4. 4. 1| 5. 3.31
g}i%%k*ﬁ'@?&%ﬁﬂ@ﬂ%ﬁ%}% P ggﬁ;ﬁﬁ%ig 1,047,882 4. 4. 1| 5. 3.31
ﬁﬁﬁiﬁ%ﬁfiggéx;A Pl T A i;;%ié;ﬁk 671,000] 4. 4. 1| 5. 3.31
gg%%%ﬂbﬁyﬁ%%g 55 FRT 44 E%Q%”ﬁ/j 1,540,000 4. 4. 1| 5. 3.31
RFAPERBIE A7 7 P BT H, [y
0@&05}%@(%2EE7M5$%$/;7 i1 T B i A5 ME R A B S 3,190,000] 4. 4. 1| 5. 3.31
77— AR PR AR
ﬁgﬁ%g?ﬁ%éggéiggi ?fﬁﬁﬂa TR 78 PREETS 156, 750 4. 4. 1| 5. 3.31
AT P AKBRBBRE B ZRE [TPRETAL  [A=19, 0000t BRET 3,080,000 4. 4.29| 4.11.30
imm%&%m%&%ﬁ%ﬁ% FEFHTAL  |A=8, 060nT B 1,155,000| 4. 4.29| 4.11.21
%%E%Wém“%%¥% Eﬁuﬁa A=10, 100m [ &L 1,540,000 4. 4.29| 4.11.29
P& S ATE e e S e gﬁﬁ‘ﬁ A=5, 7601 BREL 1,177,000| 4. 5.13| 4.10.25
%%%15%?%{57}@%‘“%%%%% i“'gTE A=7, 7001 BREL 1,320,000| 4. 5.13| 4.11. 8
ggg&t&%g&%mﬁﬁ% A 73 [T |A=15,900md [ EE 2,640,000| 4. 5.13| 4.11.28
gggﬁﬂ%ﬁﬁﬁﬁm’%ﬁ¥ A3 FEHT |A=14, 600nd 5352 2,354,000| 4. 5.13| 4.11.22
ggﬁﬁﬂ%ﬁ%m&ﬁ%¥% JEA AT |A=3, 0000 FREE 451,000 4. 4.21| 4.11.24
%g%ﬁﬁﬁ?*%%&%&%ﬁ i“'gﬁa A=500nd  BREL 484,000 4. 4.28| 4.11. 9
A5 T P HO B 5 A ET JFH i 70 484,000 4. 5.25| 4.11.28
g;gﬁ%ﬁ%mzﬁ%%ﬁ ?g%ﬁz A-11, 200m8 [ 5 2,090,000 4. 6.17| 4.11.24
FARN PR SRRER 2t | Bl BB RRERS 209,000 4. 6.23| 4. 7.19
PIRTHEKEEE B ZRE (BITLT B B85 A% 319,000 4. 6.23| 4. 7.21
ST P M R R T JH i 71 484,000 4. 8. 6| 4.10. 3
i\%g?g;%ﬁ?*%%%ﬁﬁ W3 T H |E KA 352,000 4.11.15| 4.12. 5
JE-1T B R 2SR WEA1TH | ) & 209,000 4.12.27| 5. 2.21
§%@%2%%WT*%@%I WA Hi TR AERE 8,393,000 4.11. 5| 5. 3.15
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A

FENE

T &4 (H)

ET4AEHHA

SETHAH

HORGH T KB ERE T

FIRE

P A E T

979, 000

4.11.22

4.12. 5
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AL

1

REIFICONT

(1) ®&EF - AL 34 {4 213, 491, 300 4
% 2 [EREE ) R4 A AL — M AL
R s Zentkt (M) R B itk (M) | 5Ltk ()
50 7 AT - - | - - | - -
50 HHLLE 130 AR - - 1 1,149,500 | - -
130 THELLE 500 75 A - - | 24 71,891,600 | - -
500 SFFLLE 1,000 ARG 1 6,930,000 | 5 40, 240, 200 | - -
1,000 FALLLE 2,000 5 - -| - - | - -
2,000 HMLLE 5,000 FHAG| 1] 42,130,000 2 51, 150, 000 | - -
5,000 J7 LA E - -1 - N _
& it 2| 49,060,000 | 32| 164,431,300 | - -
(2) I=*F 84 {4 4,051, 358,740 [
% 2 [EREE ) EEES T VNN — LA AL
) FAReR (M) [ FBaef (M) |t Haes (M)
130 5 A 2 1,771, 000 1 1,281,500 | - -
130 ZHUE 500 HHE 2 4,836,700 | 22 66, 041, 800 | - -
500 T HLLE 1,000 J5 AR - - | 13 81, 674, 780 1 9, 900, 000
1,000 HHLLE 3,000 J5 A - - 1 23,175,900 | 20 348, 727, 500
3,000 HHLLE 5,000 5 AR - - 1 44,770,000 | 12 506, 713, 460
5,000 HHLLE 7,000 5 ARl - - - - 3 176, 683, 100
7,000 HFHLLE 9,000 75 AR - -| - - | - -
9,000 H M LLE 15,000 J5 M Rm|l - - - - 339, 658, 000
15,000 5 LL_E 30,000 5 ARG - -1 - - 518, 925, 000
30,000 LA L 60,000 5 R - - | - - | - -
60, 000 5 FILL_E 90, 000 75 F | - -| - - | - -
90, 000 J5 LA - - - - 1| 1,927,200, 000
& &t 4l 6,607,700 | 38| 216,943,980 | 42| 3,827,807, 060
(3) i 1 284, 900, 000 [
% 4 it 224 a4 g AAL
] R () [ iR (1)
1,000 J5 A5 - - | - -
1,000 AL 3,000 5 AR - - | - -
3,000 S HLLE 5,000 5 M AT - - | - -
5,000 FHLLE 7,000 75 AR - - | - -
7,000 5 HLLE - - 1| 284,900, 000
& &t - - 1| 284,900, 000
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TARRHEFB T

1 EEBY £ OSHFERICTONT

(1) SHEEIEMERE S

HEL HEEE AT FEAR s (M) | BTeEAR|=T4A R
AR EB LT HIN—H  [L=3, 331m fNEE 12,824,350| 4. 4. 1| 5. 3.31
TR R E R S TR HiN—M | E 1,430,550| 4. 4. 1| 5. 3.31
B RIE R EBERT HN—H  |L=866km H&HEIEH 19,999,980 4. 4. 1| 5. 3.31
TH MR E G T HN—H  |EEHERR 41,819,109 4. 4. 1| 5. 3.31
A B S A RT HN—M |18 3,058,000 4. 4. 1| 5. 3.31
BIARALERZE S 5T mN—H  |[EIARLE 1,047,895| 4. 4. 1| 5. 3.31
Aoy =R At ;AL . \ e =
f{*ﬁ QOOSFﬁ% A Pl JIXETHL | A dEA S AR A 4,081,000 4. 7. 5] 4.10. 2
AT
A G 1, 01 A M b 5} . R
?gm@gﬁ’%”ﬁz‘zw’@lg) 23 ey L= 486m A=2,469ni| 23,848,000| 3.12. 4| 4. 5.22
EMRTTESS B S T | EEFHNT  |L= 451m A= 1,520mi| 14,289,000 4. 1.25( 4. 6.23
H6-0005 5 M E TF |SFFET L= 86m A= 498ni| 9,350,000 4. 5.17| 4. 8.31
P S b E T )
A =] At £S ’ _ —
HAER T B 35 AR Al EE e T FlE ST L= 337m A=1,110nm| 11,717,200| 4.12.13| 5. 3.15
EAERTTIES SRR EEE e T | T L= 256m A= 906ni| 13,838,000 4. 8.27| 5. 1.20

B ‘ WRHLT
BT IS B E T | H, MHT3 |L= 249m A= 1, 369ni| 17,268,900 4.10.18| 5. 2.27
TH

665 AR & T3 JoA)IET |L= 80m A= 152mi| 1, 188,000| 4. 4.28| 4. 7.15
B 1495 Em s T3 FRFE2TH |L= 9™Tm A= 242m| 1,591,700] 4. 5.24| 4. 8.30
WA 56 B r Sl i & T HyR] HT L= 55m A= 167m| 2,145,000 4. 5.31]| 4. 9.16
iSRS T jgﬂm'gT L= 72m A= 376m| 3,267,000 4. 6. 7| 4.10. 4
WFE 1195 Ef e fiiE T 17 P T L= 93m A= 251mi| 1,870,000 4. 6. 7| 4. 9.14
IRES B S T HF2TH |L= 110m A=  267nmi| 2,728,000 4. 6.14| 4.10. 1
B SR E T FH B W L= 39m A= 126m 880,000 4. 6. 7| 4. 7.13
FHH 164 5 S T JSCEMEET |L= 29m A= 90nd 671,000 4. 6.15| 4. 9.12
ERRRTITIE 33 AR AT IS T2 | FRNT L= 118m A= 730mi| 4,543,000 4. 7.12| 4.11. 8
T FE 5 B Ef A s T TEPHET L= 44m A= 171m| 1,001,000| 4. 6.25| 4.10. 7
WAELT E R s T BT L= 40m A= 306mi| 1,089,000 4. 7. 5| 4.10.12
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HEA FEE T FENE LA (M) (B TEAR|5ETHEA A
%P%mwu;ﬁ%ﬁ%ﬁ%fﬁﬁﬂgz By L= 137m A= 376nf| 2,541,000 4. 7.23| 4. 9.20
RIKHT3T
24 E LA E T H, bAF|[L= 79m A= 260ni| 2,563,000 4. 7.16| 4.10.12
3TH

W 102 5 wrEhAErf e T4 AT L= 10lm A= 284nf| 2,057,000 4. 8. 5| 4.11. 4
AR 186 PR A T8 JajkﬁZT L= 76m A= 220nf| 1,647,800| 4. 8.16| 4.11. 8
LS B EPA RSy T T G 2 ﬁg%l “2T 0= 155m A= ss6ni 7,502,000| 4. 8.16| 4.11.28
15 80 SR sl AL i 5+ AKET1 T H|L= 44m A= 152nf| 1,265,000 4. 8. 9| 4.11. 1
R3Sl E T [A3TH |[L= 10m A= 25nf 825,000 4. 7. 1| 4. 8.29
NGRS 73 T RJISTH |L= 3Im A= 206ni| 1,738,000 4.10. 8| 4.12.26
EREF121 5 MR E T8 [VEPIET L= 38m A= 136nf| 1,430,000 4.10.22| 5. 2. 6
Igﬂﬂﬁ%@ﬁ?ﬂﬁﬁ%@%%*ﬁ{% LR AT |L= 48m A= 215nf| 2,673,000| 4.11.15[ 5. 2.13
FIAIHI0 SR 2EMIE T [ FnEET  [L= 63m A= 150nd 957,000 4.11.15| 5. 2.12
A0S RAahLEIE T [WAMEET  |L= 54m A= 140nf| 1,111,000 4.12.14]| 5. 2. 9
@gmma@ﬁ%ﬁ%ﬁ%ﬁﬂk FANEET L= 23m A= 94m| 1,221,000| 4.12.21| 5. 3.15
jJIDg#EHT”‘“‘ SRR AN |L= 83m A= 141nf| 1,287,000 5. 1.20| 5. 3.24
1495 B A 1 T Eﬁl 2T l- ham A= 142nd 1,144,000 5. 1.10[ 5. 3.16
1 B0 S sl AL e T BAYLHT L= 16m A=  96nf| 1,221,000 5. 2. 2| 5. 3.24
1 HL1 32 5 MRl e e g HLETSL  |L= 14m A= 61nf| 1,243,000 5. 2.25[ 5. 3.24
UNEEBRE R N A4 TH |[L=  Tm A= 28nf| 1,287,000 5. 3.27| 5. 3.30
SN kEd e T HBJIUSTH |L= 302m A=1,847nf| 18,304,000 4. 8. 9| 4.11.10
HES-1139 S ElisifE 9 [ RIGHT L= 294m A= 674ni| 4,169,000| 4. 8. 2| 4.12. 9
F795 RS e T SEZEET L= 356m A=1,814nf| 11,968,000 4. 8.13| 5. 1. 4
ERRRTTIE 10 SR al i iE T [JEPIHT L= 630m A=2,927nf| 17,941,000| 4. 8.27| 5. 1.23
HE6-0014 5 REleifE 9 [T L= 300m A=1,540nf| 11,055,000 4. 8.30| 5. 1.16
FE8 AR A A T SEZEHT L= 215m A= 919nf| 7,062,000| 4. 8.30| 4.12. 6
T T SR T Tz T L= 290m A= 791nf| 7,037,800 4. 9. 3| 4.11.22
B 1725 il T jt) L= 2256m A=1,670nt| 10,593,000 4. 9.13| 4.12.19
lﬁf’;‘?}%‘% RS (11 Yk T L= 318m A=1,850ni| 12,188,000| 4. 9.17| 5. 2. 6
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HEL FEE T FENE LA (M) (B TEAR|5ETHEA A
§f§ﬁ§25%ﬁ@%@%f@ﬂ§(zi ?”“‘W L= 361m A=2,230nf| 17,677,000 4. 9.17| 5. 1.24
T 15 h e T3 gggﬂﬁ, L= 346m A=1,880ni| 12,683,000 4. 9.27| 5. 2.22
N9 H 2Lt E T3 )TIE?W’ Rli= 236m A= 1,530nt| 10,252,000 4.10.18[ 5. 3. 9
MR TG 30 SR E RIS T3 [INAJEET  |L= 143m A=1,640nf| 9,845,000 4.10.29| 5. 2. 7
ERRRTITIE 23 5 AR Al R Al s T ?Zﬁ%?ﬁ L= 362m A=1,810nf| 11,473,000 4.10. 8| 5. 2. 3
HYE6-0015 5 HiEh2EiE T AT L= 420m A=1,600nt| 10,989,000 4.11. 1| 5. 3.13

B 197 5 R A e T S HT L= 270m A=1,610nf| 10,978,000 4.11. 8| 5. 1.24
TR SR EleAifE T FEITH |L= 379m A=2,410nt| 16,804,700 5. 2.28| Jfi L.t
U B 145 B R ARME i T HEFHT4  |L= 23m 1,276,000 4. 6. 1| 4. 8.19
L 2E32 B RN ERE T BRLHT L= 28m 1,177,000| 4. 7.28| 4.10.25
Eégm”‘”ﬂi% BRI ERE RRIRET4E |L= 18m 1,089,000 4. 9.16| 4.11.14
110658 B HIMERE T3 [JEPIHT L= 4nm 1,155,000 4.10. 1| 5. 2.27
575 BRER AMERE T 5 (A HT L= 33m 1,254,000 4.11.15| 5. 2. 3
EREFTISHEAERE T TR RE L= 30m 1,298,000 4.11.15| 5. 1.30
%‘%m”‘“‘ B MIER T NG L= 32m 627,000 4.11.19| 5. 2. 2
{119 25 58 B AR E i 15 sl L= 32m 1,254,000 4.11.19| 5. 2.16
[E] HH 148 5 &R e T3 EFEHET (L= 123m 5,533,000| 4.12.20| 5. 3.20
R ZE2I8 G MMERE T |[NA T |L= 28m 1,254,000 4.12.21| 5. 2.20
80640 S ARIRMMERE TF |- HT L= 24m 1,232,000[ 5. 1. 6| 5. 3.27
{f;#m”‘“‘ TR RUERE 1 BEFEHT L= 33m 1,243,000 5. 1.20| 5. 3.13
AR 16 758 BRI Ef T 5 ARFETHT  |L= 42m 1,265,000 5. 1.26| 5. 3.15
g%ﬁﬂm“ FESHH BB E FFIHET  |L= 29m 1,243,000 5. 1.31| 5. 3.15
;ﬁm%’%% BRRAER T TUHT L= 104m A=  95nmi| 1,210,000| 4. 4.26| 4. 7. 1
F021 5oL R B A E T3 [/NekiT 4k [L= 10Im A= 101nd| 1,276,000 4. 5.11( 4. 7.27
5@93%’%%( B L Z'f;i%ZTH L= 94m A=  94nf| 1,210,000| 4. 6. 7| 4.10. 4
%@87%5«&%? BB T HEFETAL  |L= 83m A= 93nf| 1,166,000| 4. 6. 7| 4. 6.30
E%ﬁé% %%%%%&W( SEIET L= 120m A=  38nf| 1,089,000| 4. 7.12| 4. 9.28
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FEH TR FENE THAHE (M) [FTEA B [5ETHEA R
gﬁl%%’ﬁ%f( BRI L ﬁ“"ﬁa L= 154m A= 1,067,000| 4. 7.28 9.13
gi%%ﬁ%% BARBUARZET. gy gy L= 106m 1,287,000| 4. 8. 6| 4.11. 2
gpng R RIRRURR T 1P T L= 95m 1,265,000 4. 8. 9| 4.11.16
iﬁém%ﬁ%f( BRI L g;ﬁ’aﬁ L= 9lm 1,199,000| 4. 8. 6| 4.11. 2
gﬁggﬁ%m%;@%* REO g rur |- 93m 506,000 4. 9.13| 5. 1.20
%J”w SRR E;MSTE L= 99m 1,287,000| 4.10. 1| 5. 1. 6
%J”M%’ﬁ% BRRCRL T TFHHTHL |L= 113m 1,155,000[ 4.10. 1| 5. 1. 5
?5?297%,%?%?‘ IRHH A2 T ﬁ%zTH L= 120m 1987.000| 4.12. 3| 5. 3. 2
gﬁ%wz%ﬁs@%f BB T 1P T L= 94m 1,254,000 4.11.15| 5. 2.22
ﬁ@?ﬁgﬁfg(ﬂi$ﬁ73%ﬁ L RATAL L= 9Tm 1,089,000 4.12.14| 5. 3.10
@%Hﬂmﬁﬁmﬁk R igﬁmT L= 43m 1,188,000| 4.12.24| 5. 3.15
%ﬁl}z%ﬁm{ ABBHAR L s ey L= 9lm 1,122,000| 4.12.21| 5. 2.17
%iizoo%ﬁéﬁw’ RBOERSE cgamrst |L= 196m 1,287,000| 4.12.27| 5. 1.24
;f&zo%ﬁ'ﬁm( BB T TFHHTHL |L= 115m 1, 155,000[ 5. 2.10| 5. 3.25
gﬁ@%ﬁaﬁm FRMUBEERET | earst |- 41n 1,287,000| 4. 6.15| 4. 9.12
RBF192 5 RRAMANEERE L [V RE4L  |[L=  8m 990,000{ 4. 7. 7| 4. 9. 6
R T 2 SR MATEE i L ﬁﬁquE L= 54m 1,298,000| 4. 8. 9| 4.10.26
TREE69 S RMANEERE L9 [HR&S  |L= 33m 1,287,000| 5. 1.31| 5. 3.30

(2) 2% Afi sk MeFr B3

FRA R %%‘élﬁl HA AR (M) [ T8 A |58 T4 1
LR EESEEE | —H av,% 1, 980, 000 4. 1| 5. 3.31
égig%@iﬁ%”m”%ﬁﬁﬁ ;’i%ZTH A= 29, 100mi PR 3,850,000| 4. 4.29| 4.11.18
%%i’%lgﬁﬁm”mmﬁﬁ FEETSL A= 10,8001 BREL 1,430,000 4. 4.29| 4.11.18
;E%%ﬁ% TR F TS MEEETAL |A= 33,500m BRI 7,854,000 4. 4.29( 4.11.18
%g;ﬁw%ﬁﬁ%%ﬁﬁﬁé% SEZERTAN (A= 2,800m BREE 660,000 4. 4.29| 4.11.15
gjﬁgg%w BB MR JNIRETAL (A= 37,500m BREL 8,899,000 4. 5.13| 4.11.20
FRIRTHIEG £ RSB MR KAFETAL  |A= 19, 700m BREL 4,840, 000| 4. 4.29| 4.11.18

Bt
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H¥EA T HENRE ) 48 (M) |3 T4EA B |52 T4EA A
i@%‘m%ﬂ@ R IR FEETAN [A= 59, 300mT BRE 13, 640, 000| 4. 4.29| 4.11.20
ij’;g%%ﬁ,ﬁﬂ@ AIRE o |a= 51, 100mt bR 12,386,000 4. 4.29| 4.11.20
'J?%%”‘“M HEBERER | yenrs (4= 26, 3000 B 6,413,000| 4. 4.29| 4.11.18
%:2302%%?% BB TS ﬁKZTE A= 8,300mi PR 2,123,000 4. 5.13| 4.11.16
ifﬁg%gl%ﬁﬂﬁ SEREL | mupnrar [a= 58, 000mt B 13,728,000 4. 5.13| 4.11.18
%f}f%%gi” HEBERRE | cymrst (4= 35, 2000 B 8,965,000 4. 4.29| 4.11.18
%%2168%%%%%%%%%%% HUIETS, |A= 12,4000 BREE 3,366,000 4. 4.29| 4.11.20
%ﬁ%ﬁ%ﬁfi‘”ﬁﬁ%%@% FREFETSM |A= 12, 700nt BRES 3,223,000| 4. 5.13| 4.11.18
%@%92077?@%@%%%% Ef\ﬁﬁm A= 11,800mi PR 3,058,000 4. 5.13| 4.11.18
%26%9201%%%@%%%% FREFETSN A= 3, 100m FRE 759,000| 4. 8.26| 4.11.18
Q@%QEIO%W@ SEREL \pymmrst [a= s, sa0mt g 946,000 4. 8.27| 4.11. 9
éigg%ﬁmﬁ%ﬁ&%% ?%QIT ié%%% BT, ik 9,152,000 4. 5.20| 4.12. 5
ﬁg%égiﬁﬂﬁ WA ?%QZT iéﬁ%% IE, Pt 10,978,000| 4. 5.20| 4.12. 5
%ﬁ;%%;gwgw%ﬁ E@EEST i%mﬁ& BT, ik 9,284,000 4. 5.21| 4.12. 5
ﬁg;@giﬁmﬁ%w% ?HITE Eé;éwl% WTE, Pt 3,256,000 4. 5.20| 4.12. 5
ﬁi;%ég%ﬁmﬁ%ﬁ%% aRsLIES %ﬁ;gﬁ@ SIE, ik 2,948,000| 4. 5.20| 4.12. 9
ﬁg%@%@iﬁmﬁ%@%% 76 R 4% 5@;@5@ E, Hellt 7,205,000| 4. 5.24| 4.12.10
fé%%%% PRI i%ITH %ﬁ;ﬁ%@ BT, ik 10,780, 000| 4. 5.20| 4.12. 2
fﬁig%ﬁfﬁmﬁw%ﬁ% T TS %ﬁ;gﬁ@ BTE, iRt 4,422,000 4. 5.20( 4.12. 8
ifﬁ%’ogﬁﬁwﬁwﬁm [ERC ARl %ﬁ;é%ﬁ% WIE B’ g 905,000 4. 6.11] 4.12. 10
gg% RAETIAIRER R IE 2 1yt %ﬁ;é%@ E, Hellt 3,927,000 4. 5.27| 4.11.28
éig”gﬁﬁ%ﬁ%ﬁ%ﬁ% EaLipsS Eééwl% E, Hellt 5,445,000 4. 5.31| 4.12.10
i%;oogiﬁmﬁﬂ AR ?;%STE %;%W% IE, Pt 869,000 4. 6.11| 4.12. 8
ﬁ%ﬁ% SRR AT 5%}% 2o %ﬁ%‘:;%ﬁ% BT, ik 3,927,000 4. 5.27| 4.12. 7
%é%%g%%ﬁﬂﬁ%%%% TOREFHTAN |A=1, 9500t BREL 495,000 4.12.24| 5. 3. 8
égﬁzgl%ﬁ%ﬁ%%{%%¥% PEHLETSL - [A=1, 950nf BREL 495,000 5. 1.26| 5. 3. 9
PERITELB B BUREI A SNETSLIN=1AR (R 418,000| 5. 2. 4| 5. 3. 6

PR B L
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FEH TR FENE e (M) (ST A |74 A
iﬂg%fﬁﬂ%é%%ﬁ* fex LET N=4A kR 484,000 5. 1.31| 5. 3. 7
ﬁggmé%%’ﬁﬂg FIEREIE gy gﬁ”ggﬁ 6,996,000 4. 5.14| 4.10.20
ﬁﬁim@% R E%’f R4 T o 7,546,000 4. 5.14| 4.10.20
ﬁﬁim@?’? AR o st g%z_gggﬁ 7,711,000 4. 5.13| 4.10. 3

251 AU KRG O RIS | e 1,298,000| 4. 6.15| 4. 9.22
ig&oom R Eéﬁiﬁm gn}ﬁmﬁgﬁ 1,265,000| 4. 8. 6| 4. 9.29
g%uaﬂso FRIH T 1 i;ﬁmﬂzT e 1,298,000| 4.11.19] 5. 3. 1
15 FH 35 R A X TR R 5 iﬂEHZTH %@%582%% 1,298,000| 5. 1.20| 5. 2.22
6 RN X R AR B ;ZFMT %ﬁmm 1,298,000| 5. 2. 7| 5. 3.24
RS MK E T (WA | e i 1,254,000 5. 2.16| 5. 3.24

(3) Y x ofERFE

HEH HE P HENAE T AHE (M) [F A B 5 THEAH
Eégggggﬂlﬁﬁﬁﬁbﬁ fRERTS. A= 6,800n1 BRIEL 616, 000| 4. 4.29| 4.11.18
%g%g%gmﬁﬁw@@ﬁ %%ZTE A= 9,800m BREL 847,000| 4. 4.29| 4.11.18
EHI3BBBVOER LF [IHELTH |WEEE T 1,287,000 4. 7.28| 4. 9.22
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